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Note : This paper is of Thirty Five (35) marks divided into
two (02) Sections A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein.
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SECTION-A/( @US-% )
(Long Answer Type Questions)/( S ST Il Wg)

Note : Section 'A' contains Five (05) long answer type
questions of Nine and Half (9%2) marks each. Learners
are required to answer any Two (02) questions only.

(2x9%2=19)
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1. Solve:

(mz—ny)p+(nx—Iz)g =1y —mx.
B WHINT ¢
(mz—ny)p+(nx—Iz)g =ly —mx.
2. Solve:
xzydx —(x+ y3 )dy = 0.
A HINT ¢
x2ydx —(x*+ y3)dy =0.
3. Solve:
y=2px— pz.
B WHINT ¢

y=2px-p.
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4. Solve by the parameter method :

d? y
—5 +y =cosecx.
dx

Taa fafy g7 a1 +ifee

d? y
—5 +y =cosecx.
dx

5. Solve:
d
x—y+z=0.
dx
dz
x—+y=0.
dx Y
T HIWT ¢
d
x—y+z=0.
dx
dz
x—+y=0.
dx Y

SECTION-B/( ©@Us-@)
(Short Answer Type Questions)/( g I AT Y9T)

Note : Section 'B' contains Eight (08) short answer type
questions of Four (04) marks each. Learners are required
to answer any Four (04) questions only.  (4x4=16)
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1. Solve:

xdy — ydx

x2+y?

xdx + ydy + 0.

T HIWT ¢

dy — ydx
xdx+ydy+x)2}—y2
X +y

=0.

2. Solve:

(D> -2D+5)y=e¢**sinx.

TA HIT :

(D*-2D+5)y=e**sinx.
3. Solve:

3 2
x3ﬂ+2x2ﬂ+3xﬂ—3y =x* +x.
dx® dx? dx
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TA HIT :

3
x3d—§+2x2d Y +3x ﬂ—3y X% +x.
dx dx? dx
4. Solve:
(D3 — 4D2D’ + 4DD’?)z = sin (2x + ).
TA HIfNT ¢

(D3 = 4D2D’ + 4DD’?)z = sin (2x + ).

S.  Solve that the equation is exact :

3 2
dy dy 2, . 2dy\d7y
+3x—+2y|—| + +2y"— [—=
Y xdx y(dx) (x Y dx ) dx?

Tizy & TR wdw

3
y+3xﬂ+2y(ﬂ) ( +2 2dy)d J =0
dx dx dx ) dx*

6. Solve:

dz
x——(2 —1)—+(x+1)y 0
dx?
T HIWT ¢
dz
x——(2 —1)—+(x+1)y 0
dx?
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Solve :

dx B dy B dz
x(y =27 =y +xP) (xF+yY)

T HIWT ¢

de dy B dz
x(y' =28 =y +x) 2P +y7)
Solve :
(D2 + 3D + 2)y =e".
T HIWT ¢

(D? + 3D + 2)y = €.
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